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Point R is 6 km to the south of point J. 
Point S is 4 km to the north of point M. 
Point H is 10 km to the east of point S. 
Point M is 7 km to the west of point R. 
Point P is 6 km to the north of point F. 
Point D is 4 km to the east of point S. Point 
F is 4 km to the south of point D. Point N is 
3 km to the west of point H. Point U is 6 km 
to the south of point D.
ब िंद ुR, ब िंद ुJ के दक्षिण में 6 ककमी दरू  ै।  ब िंद ुS, 
ब िंद ुM के उत्तर  में 4 ककमी दरू  ै।  ब िंदु H, ब िंद ुS के 
पूर्व में 10 ककमी दरू  ै।  ब िंद ुM, ब िंदु R के 7 ककमी 
पक्षिम में ै।  ब िंद ुP ब िंद ुF के उत्तर  में 6 ककमी ै।  
ब िंद ुD, ब िंद ुS के पूर्व में 4 ककमी ै। ब िंद ुF, ब िंद ुD 
के दक्षिण में 4 ककमी ै।  ब िंद ुN, ब िंदु H के पक्षिम में 
3 ककमी ै।  ब िंद ुU 6 ै। ब िंद ुD के दक्षिण में ककमी.
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Point R is 6 km to the south of point J. 
Point S is 4 km to the north of point M. 
Point H is 10 km to the east of point S. 
Point M is 7 km to the west of point R. 
Point P is 6 km to the north of point F. 
Point D is 4 km to the east of point S. Point 
F is 4 km to the south of point D. Point N is 
3 km to the west of point H. Point U is 6 km 
to the south of point D.
What is the distance between points J and 
P?
1. 4 km
2. 5 km
3. 10 km
4. 6 km
5. 3 km
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Point R is 6 km to the south of point J. 
Point S is 4 km to the north of point M. 
Point H is 10 km to the east of point S. 
Point M is 7 km to the west of point R. 
Point P is 6 km to the north of point F. 
Point D is 4 km to the east of point S. Point 
F is 4 km to the south of point D. Point N is 
3 km to the west of point H. Point U is 6 km 
to the south of point D.
Four of the following five are alike in a 
certain way based on their position and 
thus form a group. Which of the following 
does not belong to the group?
1. S
2. U
3. D
4. N
5. H
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Point R is 6 km to the south of point J. 
Point S is 4 km to the north of point M. 
Point H is 10 km to the east of point S. 
Point M is 7 km to the west of point R. 
Point P is 6 km to the north of point F. 
Point D is 4 km to the east of point S. Point 
F is 4 km to the south of point D. Point N is 
3 km to the west of point H. Point U is 6 km 
to the south of point D.
What is the direction of point S from point 
U?
1. South-East
2. West
3. East
4. North-West
5. South-West
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In the word “DOORLOCK” if all the vowels 
are replaced with the letter immediate next 
to it in the English alphabet series and all 
the consonants are replaced with the letter 
immediately before it in the English 
alphabet series, then how many vowels are 
there in the new word so formed?
शब्द "DOORLOCK" में यकद सभी स्र्र ों को अिंग्रेजी 
र्णवमाला श्रिंखला में उसके ठीक आगे र्ाले अिर  से 
 दल कदया जाए और  सभी व्यिंजनों को अिंग्रजेी 
र्णवमाला श्रिंखला में उसके ठीक पैले र्ाले अिर  से 
 दल कदया जाए, तो शब्द में ककतने स्र्र  ैैं नया शब्द 
इस प्रकार   ना?
1. One
2. Two
3. Three
4. None
5. None of these
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Statements:
All balls are dolls .
All dolls are mobiles.
All mobiles are tablets.

Conclusions:
I. All balls are tablets.
II. Some mobiles are dolls.

1. Only conclusion I follow
2. Only conclusion II follows
3. Conclusion I and II both follow
4. Neither conclusion I nor conclusion 
II follows
5. Either conclusion I or conclusion II 
follows
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Statements:
All apples are oranges.
No orange is lime.
All potatoes are limes.

Conclusions:
I. No potato is orange.
II. Some apples are limes.

1. Only conclusion I follow
2. Only conclusion II follows
3. Conclusion I and II both follow
4. Neither conclusion I nor conclusion 
II follows
5. Either conclusion I or conclusion II 
follows
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Statements:
Only captain is america.
Only a few captain are hydra.
Few hydra are bucky.

Conclusions:
I. No bucky is captain.
II. Some america is bucky.

1. Only I follows
2. Only II follows
3. Both I and II follow
4. Neither I nor II follows
5. None of these
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Statements:
Only captain is america.
Only a few captain are hydra.
Few hydra are bucky.

Conclusions:
I. No bucky is captain.
II. Some america is bucky.

1. Only I follows
2. Only II follows
3. Both I and II follow
4. Neither I nor II follows
5. None of these
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Seven boxes – P, Q, R, S, T, U, and V are stacked one 
above the other but not necessarily in the same order. At 
most two boxes are placed below box Q. Box U is placed 
one of the places above box T, but not exactly above. 
Two boxes are placed between box R and box S, where 
box S is above box R. Box R is placed exactly above box 
Q. Box P is placed at one of the places below box S. 
Number of boxes above box P is the same as the number 
of boxes below box V. At least five boxes are placed 
below box S. Box T is placed near Box V.
सात  क्से - P, Q, R, S, T, U,और  V एक के ऊपर  एक र खे गए ैैं 
लेककन जरूर ी नैीं कक इसी क्रम में ैों   ॉक्स Q के नीचे अक्षिकतम दो 
 ॉक्स र खे गए ैैं   ॉक्स U,  ॉक्स T के ऊपर  ककसी एक स्थान पर  र खा 
गया ै।, लेककन ठीक ऊपर  नैीं   ॉक्स R और   ॉक्स S के  ीच दो  ॉक्स 
र खे गए ैैं, जैािं  ॉक्स S,  ॉक्स R के ऊपर  ै।   ॉक्स R,  ॉक्स Q के 
ठीक ऊपर  र खा गया ै।   ॉक्स P,  ॉक्स S के नीचे ककसी एक स्थान पर  
र खा गया ै।   ॉक्स P के ऊपर   ॉक्स की सिंख्या समान ै।  ॉक्स V के 
नीचे  क्सों की सिंख्या क्षजतनी ै।   ॉक्स S के नीचे कम से कम पािंच 
 ॉक्स र खे गए ैैं   ॉक्स T को  ॉक्स V के पास र खा गया ै। 



@Reasoningbybasantsir

Seven boxes – P, Q, R, S, T, U, and V are 
stacked one above the other but not 
necessarily in the same order. At most two 
boxes are placed below box Q. Box U is 
placed one of the places above box T, but not 
exactly above. Two boxes are placed 
between box R and box S, where box S is 
above box R. Box R is placed exactly above 
box Q. Box P is placed at one of the places 
below box S. Number of boxes above box P is 
the same as the number of boxes below box 
V. At least five boxes are placed below box S. 
Box T is placed near Box V.
How many boxes are placed above box U?
1. One
2. Two
3. Three
4. Four
5. Five
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Seven boxes – P, Q, R, S, T, U, and V are 
stacked one above the other but not 
necessarily in the same order. At most two 
boxes are placed below box Q. Box U is 
placed one of the places above box T, but not 
exactly above. Two boxes are placed 
between box R and box S, where box S is 
above box R. Box R is placed exactly above 
box Q. Box P is placed at one of the places 
below box S. Number of boxes above box P is 
the same as the number of boxes below box 
V. At least five boxes are placed below box S. 
Box T is placed near Box V.
Which box is placed second from the bottom?
1. R
2. S
3. T
4. U
5. V
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Seven boxes – P, Q, R, S, T, U, and V are 
stacked one above the other but not 
necessarily in the same order. At most two 
boxes are placed below box Q. Box U is 
placed one of the places above box T, but not 
exactly above. Two boxes are placed 
between box R and box S, where box S is 
above box R. Box R is placed exactly above 
box Q. Box P is placed at one of the places 
below box S. Number of boxes above box P is 
the same as the number of boxes below box 
V. At least five boxes are placed below box S. 
Box T is placed near Box V.
How many boxes are placed between box T 
and box S?
1. One
2. Three
3. Four
4. Five
5. None
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Seven boxes – P, Q, R, S, T, U, and V are 
stacked one above the other but not necessarily 
in the same order. At most two boxes are placed 
below box Q. Box U is placed one of the places 
above box T, but not exactly above. Two boxes 
are placed between box R and box S, where box 
S is above box R. Box R is placed exactly above 
box Q. Box P is placed at one of the places 
below box S. Number of boxes above box P is 
the same as the number of boxes below box V. 
At least five boxes are placed below box S. Box 
T is placed near Box V.
If box S is related to box P and box R is related 
to box Q in the same way box V is related to 
which box?
1. T
2. Q
3. R
4. U
5. P
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Seven boxes – P, Q, R, S, T, U, and V are 
stacked one above the other but not necessarily in 
the same order. At most two boxes are placed 
below box Q. Box U is placed one of the places 
above box T, but not exactly above. Two boxes 
are placed between box R and box S, where box 
S is above box R. Box R is placed exactly above 
box Q. Box P is placed at one of the places below 
box S. Number of boxes above box P is the same 
as the number of boxes below box V. At least five 
boxes are placed below box S. Box T is placed 
near Box V.
If we rearrange all the boxes in alphabetical order 
from bottom to top, then the position of how many 
boxes remains unchanged?
1. One
2. Three
3. Four
4. Five
5. None
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NSX   GHD   TUF   EOK   YDQ
If all the letters are changed to the 
next alphabet in the alphabetical 
series, then how many words have at 
least one vowel? (Assume A comes 
after Z)
यकद सभी अिर ों को र्णवमाला क्रम में अगले र्णव 
से  दल कदया जाए, तो ककतन ेशब्दों में कम से 
कम एक स्र्र  ैोगा? (मान लें कक A, Z के  ाद 
आता ै।)
1. Three
2. One
3. Four
4. Two
5. None of these
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NSX   GHD   TUF   EOK   YDQ
If the first and third letter of each word is
interchanged, then all the words are 
arranged in alphabetical order from the 
left then which of the following is the first 
word from the left end?
यकद प्रत्येक शब्द का पैला और  तीसर ा अिर  ै।
 दल कदया जाता ै।, तो सभी शब्दों को  ाईं ओर  से 
र्णावनकु्रम में व्यर्क्षस्थत ककया जाता ै।, तो क्षनम्न में से 
कौन सा शब्द  ाएिं छोर  से पैला शब्द ै।?
1. EOK
2. GHD
3. YDQ
4. NXS
5. None of these
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NSX   GHD   TUF   EOK   YDQ
If all the consonants are changed 
to the previous letter in the 
alphabetical series then how many 
words have more than one vowel?
यकद सभी व्यिंजनों को र्णावनुक्रम में क्षपछले 
अिर  से  दल कदया जाए, तो ककतन ेशब्दों 
में एक से अक्षिक स्र्र  ैैं?
1. 2
2. 4
3. 0
4. 1
5. None of these
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NSX   GHD   TUF   EOK   YDQ
If the words are arranged in 
alphabetical order from left to 
right, then the position of how 
many words remain unchanged?
यकद शब्दों को र्णवमाला क्रम में  ाएिं से दाएिं
व्यर्क्षस्थत ककया जाता ै।, तो ककतने शब्दों 
की क्षस्थक्षत अपरर र्र्तवत र ैती ै।?
1. One
2. Four
3. Three
4. Two
5. None of these
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Seven persons A, B, C, D, E, F and G got 
appointment letter from IBPS in seven different days 
from Monday to Sunday of a week but not necessarily 
in the same order. G does not get appointment letter 
on Sunday. B got appointment letter before E. Only 
one person got appointment letter between A and D. F 
got appointment letter in one of the day after D.A got 
appointment letter on Wednesday. C got appointment 
letter before D and after B. Two people got 
appointment between B and E.
सात व्यक्षियों A, B, C, D, E, F और  G को सप्ताै के सोमर्ार  से 
र क्षर्र्ार  तक सात अलग-अलग कदनों में IBPS से क्षनयुक्षि पत्र क्षमला, 
लेककन जरूर ी नैीं कक इसी क्रम में ैो  G को र क्षर्र्ार  को क्षनयुक्षि 
पत्र नैीं क्षमलता ै।. B को E से पैले क्षनयुक्षि पत्र क्षमला  A और  D 
के  ीच केर्ल एक व्यक्षि को क्षनयुक्षि पत्र क्षमला   ुिर्ार  को D.A 
को क्षनयुक्षि पत्र क्षमलने के एक कदन  ाद F को क्षनयुक्षि पत्र क्षमला  C 
को D से पैले और  B के  ाद क्षनयुक्षि पत्र क्षमला  B और  E के  ीच 
दो लोगों को क्षनयुक्षि क्षमली 
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Seven persons A, B, C, D, E, F and G got 
appointment letter from IBPS in seven different 
days from Monday to Sunday of a week but not 
necessarily in the same order. G does not get 
appointment letter on Sunday. B got appointment 
letter before E. Only one person got appointment 
letter between A and D. F got appointment letter 
in one of the day after D.A got appointment letter 
on Wednesday. C got appointment letter before D 
and after B. Two people got appointment between 
B and E.
Which of the following is not true?
1. B got appointment letter on Monday
2. E got appointment letter immediately after A
3. Three persons got appointment letter after D
4. Both 1 and 2 are not true
5. All are not true
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Seven persons A, B, C, D, E, F and G got 
appointment letter from IBPS in seven 
different days from Monday to Sunday of a 
week but not necessarily in the same 
order. G does not get appointment letter on 
Sunday. B got appointment letter before E. 
Only one person got appointment letter 
between A and D. F got appointment letter 
in one of the day after D.A got appointment 
letter on Wednesday. C got appointment 
letter before D and after B. Two people got 
appointment between B and E.
Which of the following combination is 
correct?
1. B – Monday
2. C– Sunday
3. D– Saturday
4. E– Friday
5. F– Tuesday
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Seven persons A, B, C, D, E, F and G got 
appointment letter from IBPS in seven 
different days from Monday to Sunday of a 
week but not necessarily in the same 
order. G does not get appointment letter on 
Sunday. B got appointment letter before E. 
Only one person got appointment letter 
between A and D. F got appointment letter 
in one of the day after D.A got appointment 
letter on Wednesday. C got appointment 
letter before D and after B. Two people got 
appointment between B and E.
Who got appointment letter on Friday?
1. B
2. C
3. D
4. E
5. G
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Seven persons A, B, C, D, E, F and G got 
appointment letter from IBPS in seven 
different days from Monday to Sunday of a 
week but not necessarily in the same 
order. G does not get appointment letter on 
Sunday. B got appointment letter before E. 
Only one person got appointment letter 
between A and D. F got appointment letter 
in one of the day after D.A got appointment 
letter on Wednesday. C got appointment 
letter before D and after B. Two people got 
appointment between B and E.
How many persons got appointment letter 
between B and F?
1. Three
2. Two
3. None
4. One
5. More than three
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Seven persons A, B, C, D, E, F and G got 
appointment letter from IBPS in seven different 
days from Monday to Sunday of a week but not 
necessarily in the same order. G does not get 
appointment letter on Sunday. B got 
appointment letter before E. Only one person 
got appointment letter between A and D. F got 
appointment letter in one of the day after D.A 
got appointment letter on Wednesday. C got 
appointment letter before D and after B. Two 
people got appointment between B and E.
E got appointment letter in which of the 
following days?
1. Monday
2. Wednesday
3. Thursday
4. Saturday
5. Tuesday
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Select the one which different from 
other four alternatives.
उसे चुनें जो अन्य चार  क्षर्कल्पों से क्षभ्न  ै। 

1. CBD
2. GFH
3. MNO
4. RQS
5. VUW
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Eight persons P, Q, R, S, T, V, W and X 
are in a family with three different 
generations. W is the son of T, who is the 
only daughter of P. P is the brother-in-law 
of V and does not has any siblings. Not 
more than three and not less than two 
members in the same generation. X is the 
niece of Q, who is the sibling of T. R is the 
brother-inlaw of Q. V is not a female. Less 
than four female members are there in the 
family.
आठ व्यक्षि P, Q, R, S, T, V, W और  X तीन 
अलग-अलग पीक़ियों र्ाले एक परर र्ार  में ैैं  W, T 
का  ेटा ै।, जो P की इकलौती  ेटी ै।  P, V का ब्रदर -
इन-लॉ ै। और  उसका कोई भाई- ैन नैीं ै।  एक ैी 
पी़िी में तीन से अक्षिक और  दो से कम सदस्य नैीं  X, 
Q की भतीजी ै।, जो T का भाई ै।  R, Q का ब्रदर -
इनलॉ ै।  V मक्षैला नैीं ै।  परर र्ार  में चार  से कम 
मक्षैला सदस्य ैैं 
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Eight persons P, Q, R, S, T, V, W and X 
are in a family with three different 
generations. W is the son of T, who is the 
only daughter of P. P is the brother-in-law 
of V and does not has any siblings. Not 
more than three and not less than two 
members in the same generation. X is the 
niece of Q, who is the sibling of T. R is the 
brother-inlaw of Q. V is not a female. Less 
than four female members are there in the 
family.
How is Q related to S?
1. Nephew
2. Cousin
3. Son
4. Daughter
5. Father
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Eight persons P, Q, R, S, T, V, W and X 
are in a family with three different 
generations. W is the son of T, who is the 
only daughter of P. P is the brother-in-law 
of V and does not has any siblings. Not 
more than three and not less than two 
members in the same generation. X is the 
niece of Q, who is the sibling of T. R is the 
brother-inlaw of Q. V is not a female. Less 
than four female members are there in the 
family.
Who among the following is the Maternal 
uncle of W?
1. Q
2. R
3. S
4. V
5. Cannot be determined
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Eight persons P, Q, R, S, T, V, W and X 
are in a family with three different 
generations. W is the son of T, who is the 
only daughter of P. P is the brother-in-law 
of V and does not has any siblings. Not 
more than three and not less than two 
members in the same generation. X is the 
niece of Q, who is the sibling of T. R is the 
brother-inlaw of Q. V is not a female. Less 
than four female members are there in the 
family.
How many females are there in the family?
1. One
2. Four
3. Two
4. Three
5. Cannot be determined
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